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ES-401

Form ES-401-9

FACILITY: Fort Calhoun
EXAM DATE: June 2001
CHIEF EXAMINER: R Lantz
Peer REVIEWER:

1. 2. 3. Psychometric Flaws 4. Job Content Flaws 5. Other 6. 7.
Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ |Back-| Q= SRO |U/E/S Explanation
Focus Dist. Link units | ward | K/IA Only

1 F 2 S

2 F 2 S

3 H 2 Y S (kaok)

4 F 3 S |Is ‘Drop Dead Date’ defined?

5 F 2 Y S (kaok)

6 F 3 Y S

7 F 2 Y S

8 F 3 S

9 H 2 Y Y S (kaok)

10 F 2 Y Y S (kaok)

11 H 2 X E |C,D also appear to be correct

12 F 3 Y S

13 F 3 S

14 H 2 S

15 F 2 S

16 F 1 X Y E | Not descriminating for SRO... OK for RO only (kaok)
17 F 2 S

18 F 2 S

19 F 2 Y Y S (kaok)

20 H 2 S

21 H 3 Y S (kaok)
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Q# | LOK | LOD
(F/H) | (1-5) | Stem |Cues| T/F | Cred. |Partial [ Job- |Minutia | #/ |Back-| Q= SRO |UIE/S Explanation
Focus Dist. Link units | ward | K/A Only
22 F 2 S (kaok)
23 H 2 X Y N U |not SRO ONLY... good for RO or BOTH (kaok), A possibly correct
24 H 3 S | State manual or autl trip in stem... is there an ABN for this?
25 F 2 S
26 F 3 S
27 F 2 S |(kaok)
28 F 2 Y S (kaok)
29 F 2 Y S |ref does not clearly support answer... discuss (kaok)
30 H 3 S
31 H 2 X E |add “full pressure” seals in stem... where does 1.73 gpm come from?
32 F 2 X E |change B to more technical.... ? gal boric acid injected from BATSs to
RCS. Change C to “low IvI” vice high.
33 F 1 N U |not responsive to KA as written.. Revise Q to diagnose a leak out of
CCW, then ask for system auto actions expected?
34 F 2 S
35 H 3 X N U |not SRO ONLY ... system level (kaok)
36 F 4 Y S |edittypoin D, (kaok)
37 H 1 X X S |verify the answer is independent of time of life
38 H 2 X X E |answer appears incomplete
39 F 2 Y S
40 F 3 S (kaok)
41 H 2 S
42 H 3 N U |not SRO ONLY... need diagnosis and selection of procedures (kaok)
43 F 3 S
44 F 1 S
45 F 3 Y S
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46 F 3 S
47 H 2 X X Y Y E |ensure all answers could not be argued as correct (kaok)
48 F 4 X Y E |from memory, no handouts.. Discuss (kaok)
49 F 3 X Y S
50 H 4 S
51 H 3 X N U |POSSIBLY not SRO ONLY, Is this in a procedure other than STMs?
52 F 3 Y Y S (kaok)
53 H 2 Y S (kaok)
54 F 3 S
55 F 2 S
56 F 4 N U |not SRO ONLY, from memory OK? (kaok)
57 H 3 E |B correct?
58 H 3 Y S (kaok)
59 H 3 S
60 F 2 S
61 H 3 Y S (kaok)
62 H 1 U | GFE/ Non descriminating. Use graphs, ask how ECP is affected
(quantitative) (kaok)
63 H 2 S
64 H 1 U |GFE as written, as action to take if limits exceeded?
65 F 1 Y U |GFE (kaok)
66 F 2 E | move common elements to stem, revise answers
67 F 2 S
68 H 3 X E |C not credible, replace with CH 1C only
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69 H 3 Y S (kaok)

70 H 2 S

71 F 3 S

72 F 3 S

73 F 2 X Y S |(kaok)

74 F 2 S

75 H 2 X E |What does level do in A/B? Could give indications/ask cause

76 H 3 X X E | Why give that the Reactor trips? Give conditions, ask what occurs

77 H 3 Y S (kaok)

78 F 1 X N U |not responsive to the KA, non-descriminating

79 H 3 S |from memory?

80 F 2 S

81 H 2 S

82 H 3 Y S (kaok)

83 H 3 Y S

84 F 2 S

85 H 2 S

86 H 3 S

87 H 3 Y S (kaok)

88 H 4 Y S

89 H 3 S

90 H 3 Y Y E |B correct? Answer not supported by ref.

91 F 1 X E | A/C not credible... edit to “remain in auto” (wasn’t controller in auto
already?) Not responsive to KA... ask system not component level
question..

92 H 3 E |A, B not responsive to the question
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93 F 3 S
94 H 3 E | modify stem... “greatest initial cooldown rate”
95 H 3 S
96 F 3 X Y Y E |better if mode of failure not asked... replace C,D with other
components (kaok)
97 H 2 S
98 F 3 S
99 F 4 S
100 F 3 Y S (kaok)
101 H 3 Y S
102 | H 3 S
103 | H 3 X N U |not SRO ONLY (kaok)
104 | H 3 S
105 F 2 S (kaok)
106 F 3 S
107 F 3 S
108 F 2 S
109 F 2 Y S (kaok)
110 H 2 X E |B correct?
111 F 3 S |reqd from memory to know WD-199 vice WD-747 and flowpath?
112 H 3 S reqd form memory?
113 H 3 Y S | verify other answers are incorrect (kaok)
114 F 2 X E |verify C always incorrect, wince wording of A is questionable for
correct ans.
115 H 2 E |check typo A/C... if the monitor “in not in” keypad?
116 H 2 S |valve names needed?
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117 H 3 E |Is B a local/control room/or either start of the BRG Water Pump?
118 F 3 S req’d from memory?
119 F 3 X X Y S
120 | H 3 S
121 F 2 Y E | Add notification requirements to who?
122 | H 2 S
123 | H 2 S
124 F 2 S
125 F 3 S
126 F 4 Y S |req’d from memory?

NUEG-1021, evilion 8



